

Level 1 60 Collins Street Melbourne 3000 Australia Telephone 613 9660 2600 Facsimile 613 9660 2699

Facsimile

То:	Company Announcements Platform	From	Catherine Wong Cooper Investors
Company:	ASX	Date:	14 October 2016
Facsimile:	1300 135 638	Pages:	5 (including this one)
Re:	Form 603 – Notice of initial s	ubstantial hold	er

Dear Sir/Madam,

I attach a completed Form 603; Notice of initial substantial holder, completed by Cooper Investors Pty Limited, in accordance with Section 671B of the Corporations Act 2001, in relation to units in Eureka Group Holdings Limited.

Yours sincerely,

Catherine Wong Compliance Officer

603 page 1/2 15 July 2001

Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

T- 0N							
10 Company N	ame/SchemeE	ureka Group Holo	lings Limited				
ACN/ARSN	0	97241159					
l. Details of su	bstantial holder (1)						
lame		ooper Investors F	Pty Limited				
CN/ARSN (if a	pplicable) <u>1</u>	00 409 890					
he holder beca	me a substantial holder on	-	13 / 10 /	2016			
. Details of vot	ting power						
The total numbe nterest (3) in on	r of votes attached to all the the date the substantial hold	voting shares in the fer became a subst	e company or vo lantial holder are	oting interests in the as follows:	the scheme tha	t the substanti	al holder or an associate (2) ha
	Class of securities (4)	Numb	er of securities		Person's vot	es (5)	Voting power (6)
	Ordinary	11,62	8,922		11,628,922		5.033%
	Holder of relevant interest		Nature of rei	evant interest (7)	CI	ass and number of securities
	Holder of relevant interest See Annexure B		Nature of rei	evant interest (7))	CI	ass and number of securities
	Oce Almekule D						
•							
	sent registered holders	urities referred to in	paragraph 3 ab	ove are as follow	vs:		
	sent registered holders		ered holder of	ove are as follow	vs: Person entitle registered as		Class and number of securities
	sent registered holders stered as holders of the second	Regist	ered holder of	ove are as follow	Person entitle		
	sent registered holders stered as holders of the second the second holder of relevant interest	Regist	ered holder of	ove are as follow	Person entitle		
he persons regi	sent registered holders stered as holders of the second Holder of relevant interest See Annexure B	Regist	ered holder of	ove are as follow	Person entitle		
he persons regi	sent registered holders stered as holders of the second Holder of relevant interest See Annexure B	Regist securit	ered holder of ies		Person entitle registered as	holder (8)	of securities
he persons regi	sent registered holders stered as holders of the second Holder of relevant interest See Annexure B	Regist securit	ered holder of ies		Person entitle registered as	holder (8)	
he persons regi	sent registered holders stered as holders of the second Holder of relevant interest See Annexure B	Regist securit	ered holder of ies aragraph 3 above	e, and acquired Consideration	Person entitle registered as	holder (8)	of securities
he persons regi	sent registered holders stered as holders of the second holder of relevant interest See Annexure B In paid for each relevant interest is as follows:	Regist securit	ered holder of ies aragraph 3 above	e, and acquired	Person entitle registered as	holder (8)	day that the substantial holde

000 Dade 2/2 10 0011 200	603	page 2/2	15 July 200	11
--------------------------	-----	----------	-------------	----

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
N/A	

7. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Cooper Investors Pty Limited	Level 1, 60 Collins Street, Melbourne VIC 3000

Signature

sign here Stephen Thompson Capacity: Director

date 14/10//2016

DIRECTIONS

If there are a number of substantial holders with similar or related relevant interests (eg a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.

- See the definition of "associate" in section 9 of the Corporations Act 2001.
- See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
 - The voting shares of a company constitute one class unless divided into separate classes.
 - The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- 6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:
 - (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

If the substantial holder is unable to determine the identity of the person (eg if the relevant interest arises because of an option) write "unknown".

Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

EGH 13.10.16 ANNEXURE A	INEXURE A					
Trade Date	Ticker	Security	Quantity	Price	Amount	Curr
		EUREKA GROUP HOLDINGS LIMITED	149,728	0.48 \$	9 44	AUD
		_	416,667	0.49 \$		AUD
		Ξ.	200,000	0.5 \$		AUD
		GROUP HOLDINGS	6,000	0.49 \$	2,940.00	AUD
		GROUP HOLDINGS I	200'009			AUD
		GROUP HOLDINGS	194,596	0.49 \$		AUD
			71,316		36,371.16	AUD
		GROUP HOLDINGS	176,015			AUD
	6/10/2015 EGH	GROUP HOLDINGS LIMITED	142,916	0.57 \$		AUD
		CIMITED	584,671	0.54 \$	315,722.34	AUD
	1/12/2015 EGHYY	GROUP HOLDINGS	1,015,329	٠,		AUD
			754,673		407,523.42	AUD
		GROUP HOLDINGS I	172,116			AUD
		:	45,563		25,970.91	AUD
	15/12/2015 EGH	GROUP HOLDINGS	368, 156		209,848.92	AUD
		_ :	228,500		130,245.00	AUD
	16/12/2015 EGH	GROUP HOLDINGS	70,357		40,807.06	AUD
	23/12/2015 EGH		38,391		23,034.60	AUD
			136,596	0.61 \$	83,323.56	AUD
			316,963	0.52 \$		AUD
		GROUP HOLDINGS I	1,240,088	0.52 \$		AUD
			241,572	0.51 \$		AUD
		GROUP HOLDINGS [50,063	0.61 \$	30,538.43	AUD
			206,538	0.62 \$	128,053.56	AUD
	14/03/2016 EGH		102,312	0.63 \$	64,456.56	AUD
		LIMITED	165,379	0.74 \$		AUD
	10/00/2016 EGHAA		682,524	٧,		AUD
			390,462	- •		AUD
		_ :	126,779			AUD
	20/00/2010 EGH		259,702			AUD
			120,951			AUD
			568,393			AUD
	7/09/2016 EGH		528,000			AUD
		<u> </u>	273,060			AUD
			199,936			AUD
			96,445	0.7 \$		AUD
			117,133			AUD
	11/10/2010 EGH		32,984			AUD
			37,335	0.74 \$		AUD
	13/10/2016 EGH	EUKEKA GROUP HOLDINGS LIMITED	300,713	0.75 \$	225,534.75	AUD

#407 P.005/005

EGH 13/10/16 ANNEXURE B Holder of Relevant Interest Cooper Investors Pty Ltd Total holdings

Registered Holder of Securities National Nominees Ltd

Persons entitled to be registered as holder National Nominees Ltd

Total Shares Outstanding

Percentage holding

Investment Manager

Nature of Relevant Interest Number of Securities

Securities Persons votes 11,628,922.00 11,628,922.00 11,628,922.00

231,047,873

5.033%